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Chapter Check-up: Rational Equations Lesson 8
E - . 4 5 11 .
xample 1. a. Solve the rational equation —+==—— algebraically.

State any restrictions on x 2 X

the variable.
4 5 11
—_—t— =
x 2 X

Verify your solution by substitution.
State the domain and range of the
function.

b. Graph the function on your calculator using two different methods.
Sketch your solutions on the grids below.

Method I: Vi = Method IT: y, =
Vo =

) b Y

A
A
F
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Your Turn: Find the solution fo Z+ 3_3 both algebraically and graphically.

x 4 x

State the domain and range.
Algebraic solution:

Graphically:
or =

Vo =

V=

Compare the algebraic and graphical solution(s)
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Example 2: Solve — — " —2 graphically.

Verify your solution(s) algebraically.

3 2x

2x x+1

Compare the solutions that you obtained graphically and algebraically.
Which is more accurate?
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Example 3:

Solve L—2x: X+l

algebraically and graphically.
x-1 2x -2

Determine any restrictions on the variable.

Verify your solution(s)

October 01, 2012
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2
Your Turn: Solve y_g=_"_ algebraically and graphically.

x+1
Determine any restrictions on the variable.

Verify your solution(s)
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Example 4: Using a Rational Model.

From 1980 through 1997, the total prize money P (in millions of dollars)
at Professional Rodeo Cowboys Association events can be modeled by

_ 380t+5
—* +31r+1

where t represents the number of years since 1980. During which year
was the total prize money about $20 000 000?
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Try this one,

It takes a paddle boat 53 minutes to travel 5 km up a river and 5 km back,
going at a steady speed of 12 km per hour with respect to still water. Find
the speed of the current.
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HOmeywork

1. Text Pages 468 - 469, Exercises # 1 - 10

2. Quiz - Rational Functions Chapter Checkup.

Rational Functions Formative Assessment Quiz 1.docx

S



Name: _________________________________	 		Date: _____________________

Chapter Checkup Quiz: Rational Functions 









1. 



Graph the following function using transformations.  Explain the transformations required to transform the basic rational function from    to   .

Show all the important parts of the graph.

[image: ]

































2. 

Algebraically manipulate the function    so that you can state the   



Transformations to change it from the basic rational function  .























3.   Match the graph of each rational function with its equation.  You must give an explanation for each choice.









						

[image: ][image: ]         [image: ]    



		













4.   Use technology to solve the radical function graphically.   

	Sketch and label the graph of the solution.  State your answer to the nearest hundredth.

[image: ]





									Algebraically solve the equation.

















Leave your answer in exact form.



5.   Explain why the previous question, when solved graphically gives an approximate solution, while solving algebraically yields an exact root.















6.  Alex and Donovan are traveling to a store in Vulcan, 400 km away, to purchase the last set of Spock Ears in the Province.  Alex leaves one hour earlier than Donovan, but Donovan travels at an average speed 20km/h faster than Alex.  If they arrive at the store at exactly the same time, what was the average speed that each of them traveled?



a.   Let  t  represent the time it takes Alex to travel to the store.  Write an expression for the average speed that each person travels.







b.  Write and solve an equation that represents the difference in their average speeds.
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Translations Assignment1



Name:

1. [image: image1.wmf](


)


2


4


yx


=+


 Sketch the graph of  

[image: image9.wmf] without using your calculator.  Find the  x  and  y  intercepts of the function.

2.  Sketch the graph of  

[image: image2.wmf]2


4


yx


=+


 without using your calculator.  Find the  x  and  y  intercepts of the function.


3. Sketch the graph of  

[image: image3.wmf]1


4


y


x


=


-


 without using your calculator.  State the domain and range of the function.


4. Sketch the graph of  

[image: image4.wmf]34


yx


=-+


 without using your calculator.  State the domain and range of the function.


5. Sketch the graph of  

[image: image5.wmf]24


yx


=-+


 without using your calculator.  State the domain and range of the function.


6.  

[image: image6.wmf](
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 is an image point on the transformed graph of   

[image: image7.wmf]()(2)7


gxfx


=+-


.  Determine the original point on the graph of  

[image: image8.wmf]()


fx


.

_1406628929.unknown
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_1406629404.unknown



_1406629537.unknown



_1406628974.unknown



_1406628665.unknown



_1406628771.unknown



_1406628101.unknown
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1. 



Graph the following function using transformations.  Explain the transformations required to transform the basic rational function from    to   .

Show all the important parts of the graph.

[image: ]

































2. 

Algebraically manipulate the function    so that you can state the   



Transformations to change it from the basic rational function  .























3.   Match the graph of each rational function with its equation.  You must give an explanation for each choice.
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4.   Use technology to solve the radical function graphically.   

	Sketch and label the graph of the solution.  State your answer to the nearest hundredth.

[image: ]





									Algebraically solve the equation.

















Leave your answer in exact form.



5.   Explain why the previous question, when solved graphically gives an approximate solution, while solving algebraically yields an exact root.















6.  Alex and Donovan are traveling to a store in Vulcan, 400 km away, to purchase the last set of Spock Ears in the Province.  Alex leaves one hour earlier than Donovan, but Donovan travels at an average speed 20km/h faster than Alex.  If they arrive at the store at exactly the same time, what was the average speed that each of them traveled?



a.   Let  t  represent the time it takes Alex to travel to the store.  Write an expression for the average speed that each person travels.







b.  Write and solve an equation that represents the difference in their average speeds.
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